=
<

8 g e
~ 8 o B
=
k) _
2 5107 E iit
o o
1072 LT

%3 2 -1 0 1 2 3 SL3 2 10 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[—=— DQM_VUUUI_RUUU0U000UI__Global__mKFitoriginal__RECO
—e— DQM_V0001_R000000001__Global_mkFitNewDetf__RECO
—— DQM_V0001_R000000001__Global_mkFitNewDett33__RECO
—— DOQM_V0001_R000000001__Global__mkFitNewDett04 _RECO

oloa,) (cm)

SICEWATL

T I
1 : b e | A 1 e P o e
IOl (MU
R e T 2 3 R S E— 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
> F
S_»—
=)
o
107}

Ul
Wi
[HTOTATTAnET
g
TP n (PCA to beamline)




	Contents
	Page 1


